Math 150 i
Exam 2 QJ A
Professor Busken Name: _J \ ”ﬂ}/

Directions: lBox off your final answers.| There are three different versions of
the exam. Absolutely no calculators or cell phones allowed! Your cell phone must
not be on your person. Writing in pen will not be accepted either. You will not
be allowed to leave to use the restroom. Show all work in a legible manner to
receive credit. Make sure you have 5 pages with 18 questions. You should not
have to ask me any questions during the exam.
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12. (6 points)  The radius of a sphere is increasing at a rate of 4 mm/sec. How fast is the
volume increasing when the diameter is 80 mm?
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Exam 2 )<
Name: 6 9/

Professor Busken

Directions: Box off your final answers.l There are three different versions of
the exam. Absolutely no calculators or cell phones allowed! Your cell phone must
not be on your person. Writing in pen will not be accepted either. You will not
be allowed to leave to use the restroom. Show all work in a legible manner to
receive credit. Make sure you have 5 pages with 13 questions. You should not
have to ask me any questions during the exam.
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e 3
An inflatable cube is being expanded at a rate of 1080 — Find the rate
of growth of each edge when the edges are 6em (V = s3).
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